User Input

L1 = Depth (0.05)

L2 = SideSlope (1:1)

L3 = OutsideLaneSuper (-2.5%)
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Point Codes
Point Geometry Type
Type
4 Geometry Properties
Paint 1
Slope 1
Paoint 2
Slope 2
Extend Slope 1
Extend Slope 2
Reverse Slope 1

Reverse Slope 2
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Show Errars

This is the point result | want
calculated based on the user
input

Preview geometries in | Roadway mode ~
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This is what happens to Point
P3 when I try to add the
H superelevation value.
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Name Type Directicn Default Value DisplayMName Descri
P ~ ¥side Side Input Right
-GravelSideSlope c] [: HMASurfaceDepth | Double Input 0.05 HMA Surface Depth (m)
[PZ ~ fGravelSideSlope Slope Input 1.00:1 Gravel Side Slope
Super 5 Super Superelevation [nput RightQutsidelane
= Create parar
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]
Superelevation
Cross Slope Preview Value Enabled In Previe
Left Inside Lane Slope -2.00%
Left Inside Shoulder Slope |-5.00%
Left Qutside Lane Slope -2.00%
Left Outside Shoulder Slope -5.00%
Right Inside Lane Slope -2.00%
Right Inside Shoulder Slope|-5.00%
Right Cutside Lane Slope | -2.00%

Right Outside Shoulder Sloj|-5.00% |




